[Russel’s Po(racfox

24 2,33 2153 7115 3%
! 313 £1,235

R : all sets  which confain themselves \
a it

R & R 7 \/es R GR R¢[i
| | +hon then

ReR:  RIR

P = Q(( sets WL‘bk K{fj_,"i tontan  +hemselves
Pff ) A
<P 7 e 4P
PCF ' Fhen Eﬁan

PE [ p<f

-\
F“U\Acﬂoﬂ t,[cme/h" —> elemen{ rl OV‘ dam_g,,\,f = L{\E“)fll"ff

Fum:h‘on element —> e[emenf 20 ? st 2§ Z«/g S % -k

/ /‘-/ /’
Y set oﬁ
FUV‘““’" clement =7 \emen-f 4 < a(( sefs COy\‘Faiﬂ.;tj a1

\ UV\c‘hGI’\ (’,ew\en-{' — emen+ glemeM

(me.‘fiar\ 6—'$N\0'f Ce 655




FUV\C‘{'I'DA SE,H'\ —> (:w/lc:ffor\ n —>
I“Q n=1 Then 1 Else
self self (n-1)+n

Le+ Sum = SUW\J .SUV'" Ir\.
ta Svmn 3

LeJr Sum :@ Q Ir\

Summ 3

ot | Et] 3
¥__\_—d7 AW["m{—(GV‘ ftole - @':Sol&: is @

(F:JY\C'HOA n —7 1'(_\ n =L Then 1  Else

o Bl (oet) o0 3

I8 3=1 Then 1 Efse @j
o] Fea] G-2) + 3

FUV\CHDA SB,H'\ — (:w/lc:ffor\ n —>
I‘? n=1 Then 1 Else
S&)p Se_['p C_f\"i} + n

Le‘f nn\/sfar\/ = Fur\c-f[an se/—p —‘7<T:</r\c-¥ion n T
T =4 Then L Else

L+ sum’ self (,\~1>>



—

I,_@T" FSum' = \’UHC‘ﬁaﬂ recyrse. —? Func_-h'an n —2>.

IQ n=L1 Then 4 [=(se
cecorse (n-4) F

AN e

Le* (GCUrSéf) :Ehc‘ﬁon se[sr\ — T’_\]ndfm n T2

.@ CSQM} Se,l'P - n
In > - d[o (CC()(S[O'VL work

Le+ (Ceyesl = rewrsc,f’ fcchslf'J ’ Ca ” rsum’
. —Puncﬁ'bn o—P A fat ?N,,,ve‘l'er

Tn
L&+ (Sum = rgum’ yecoser [ "
\:wlc—h'on =

L@+ Ycr7 = F\}Y\c‘/f'l'dh ﬁcu\ = {:;)f\C‘F'for\ x —>
'9 (S@”\ s‘e[F> x

ySumn 3

Ta
Lcﬁ’ \(ert 7cr ch Ir\

(‘:UV\C‘HDH x =2 -P 7'6(\ X



